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Questions

the percentage of water in human bone cells in

Biology is short in laws because of

The reasoning that moves from general t specific

The percentage of calcium is human body is

The bio elements which account for 99% of the total mass in the human's body are.

Which ne serves to build macromolecules.

The number and variety of species in a place is called.

Passive immunity is developed by injecting.

Which is not a lymphoid mass.

Which is found in herestitial fluid.

Necrosis of neural tissue takes place during.

A condition of high blood pressure is known as.

Match heart attack with one of the followings.

Discharge of blood from blood vessel is called as

Veins are the blood vessels which transport blood from body cells towards.

Answers Choice
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. 18%
. 19%

20%
25%

. exclusive nature of life

. Less falsification

. Large population of human
. Less tentation

Hypothesis
Deduction
Law
Theory

1%
2%
3%
4%

Four
Six
Eight
Three

ATP
Starch
Glucose
Keratin

Population
Community
Biodiversity
Diversity

Vaccine
Serum
Antiserum

. Antibiotic

Liver
Thymus
spleen
Tonsils

Large proteins
White blood cells
Red blood cells

. Platelets

. Myocardial infarction

Cerebral infraction

. Haemorrhage

Hypertension

Hypertension
Hypotension
Arteriosclerosis

. Hemorrhage

Stroke
Dedema

. Myocardial infarction

Hypertension

Stroke

. Heart Attack

Hemorrhage
thromobosis

Brain
Kidney
Liver
Heart
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The valves present in the veins are

Hepatic portal vein carries blood from

A. Bicuspid

C. Tricuspid
D. Aortic

A. Alimentary canal
B. Lungs

D. Kidney



